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The following erratum was made on 28/Apr/2020

page 85 question should read:EXERCISE 3L, 3 a ii

The following errata was made on 11/May/2020

page 247 question should read:EXERCISE 6E, 2

2 Pn is: The product of n odd integers is odd for all n 2 Z , n > 2.

Proof: (By the principle of mathematical induction)

(1) Let p1 and p2 be odd integers.

Then there exist q1, q2 2 Z such that p1 = 2q1 + 1 and p2 = 2q2 + 1.

Now p1p2 = (2q1 + 1)(2q2 + 1)

= 4q1q2 + 2q1 + 2q2 + 1

= 2(2q1q2 + q1 + q2) + 1 which is odd.

) P2 is true.

(2) If Pk is true, then the product of k odd integers is odd.

Let p1, p2, ...., pk, and pk+1 be odd integers.

Then there exist q, r 2 Z such that p1p2::::pk = 2q + 1 fusing Pkg

and pk+1 = 2r + 1

Now p1p2::::pkpk+1 = (2q + 1)(2r + 1)

= 4qr + 2q + 2r + 1

= 2(2qr + q + r) + 1 which is odd.

) Pk+1 is also true.

Since P2 is true, and Pk+1 is true whenever Pk is true,

Pn is true for all n 2 Z , n > 2. fprinciple of mathematical inductiong



The following erratum was made on 12/Jul/2019

page 289 question does not require to not be equal to :EXERCISE 7G.2, a -18 b

8 b w is purely imaginary if

a2 ¡ b2 ¡ 1 = 0 and 2ab 6= 0

that is, if a2 ¡ b2 = 1

and neither a nor b is zero.

The following errata were made on 21/Feb/2020

page 136 question text alongside second diagram should read:EXERCISE 4I, 2 a
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page 137 question text alongside diagrams should read:EXERCISE 4I, 2 d

2 d ) sin 2x = 0 or cos 2x = 1

2

sin 2x = 0 when

= 0, ¼, 2¼, 3¼,

or 4¼

f0 6 2x 6 4¼g

cos 2x = 1

2
when

= ¼

3
, 5¼
3

, 7¼
3

,

or 11¼

3

f0 6 2x 6 4¼g

) 2x = 0, ¼
3

, ¼, 5¼
3

, 2¼, 7¼
3

, 3¼, 11¼
3

, or 4¼ f0 6 2x 6 4¼g

0

Qw

2x 2x

b =

µ

z1

z2

¶

¤

for z2 6= 0 fusing ag

page 287 question last line should read:EXERCISE 7G.2, 3 b
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